Paper Code No. B-22 Question Booklet No. coeveeevereereennnens

ENTRANCE EXAMINATION- 2020
(SET-A)

Roll No. Signature of the invigilator

Time: 3 HOURS Maximum Marks: 170

10.

11.

Instructions to Candidates

Do not write your name or put any other mark of identification anywhere in the OMR Response Sheet. If
ANY MARK OF IDENTIFICATION IS DISCOVERED ANYWHERE IN OMR RESPONSE SHEET, the
OMR sheet will be cancelled and will not be evaluated.
This Question Booklet contains the cover page and a total of 17¢ Multiple Choice Questions of 1mark
each.
In case of any discrepancy is found in translation into Hindi or Urdu, English version will be treated as
fina,
Space for rough work has been provided at the beginning and end. Available space on each page may also be
used for rough work.
There is negative marking in Multiple Choice Questions. For each wrong answer, 0.25 marks will be
deducted.
USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iPad, page ETC. is
strictly PROHIBITED.
Candidate should check the serial order of questions at the beginning of the test, If any question is found
missing in the serial order, it should be immediately brought to the notice of the invigilator. No pages
should be torn out from this question booklet.
Answers must be marked in the OMR response sheet which is provided separately. OMR Response sheet
must be handed over to the invigilator before you leave the seat.
The OMR response sheet should not be folded or wrinkled. The folded or wrinkled OMR/Response Sheet
will not be evaluated.
Write your Roll Number in the appropriate space (above) and on the OMR Response Sheet. Any other
details, if asked for, should be written only in the space provided.
There are four options to each question marked A, B, C and D. Select one of the most appropriate option and
fill up the corresponding oval/circle in the OMR Response Sheet provided to you. The correct procedure for
filling up the OMR Response Sheet is mentioned below,

CORRECT METHOD

01 _JeI®

WRONG METHOD

O8O0 TOP® CVGeO APO®C CI@®E
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Directions (1-7): In each of the following questions find the odd word/letters/number

from the given alternatives,
fw (1-7) Frfafes va@® 99 7 KU 0 R § & g s o den T Fi |
IF G e SIL L L e e tir S soner (T A )l

1. (a) Room

(¢) Veranda
(a) =
(c) =T

2. (a) Mouth Organ
(c) Keyboard

(a} A3
(c) ==rE
3 (a) A
(¢c) D
4 (a) }@JMP
{8 RPOQ
B-22 (SET-A)

(b) Chamber

(d) Cabin

(b) ¥

(d) 3f=
e (b)

ARG

(b) Electric Guitar

(d) Sonata

(b) fogga Pew
(d) @R

T AYR)
ety (d)
(b) 1
(d) E

(b) JFEH
(d) HDCF

©)
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5. (a{ ~ AbcdE {\”.;i‘/h (b) [fghO .
\:/Jx E VN .

o we e @ 9N

4 K\ 3 h{g

hE / 5‘7 \/
0w ey o @ e
;}”/ sdo5 o ) 4887 W .
Vi
7. @ 49-33 4 ¢ (b) 62-46 :

© 8-67 (dy 70-55

8. From amongst the given alternatives, select the one in which the set of numbers is

most like the set of numbers given below:

i,

AN (6,14,30)
FL @ 416,28 (b) 7,12,22
L
) 6,12,22 ) 512,20
" e iy g el F &, 98 ¥, Rrad demsit @1 o R 1w dent @ g @
e B @ ® e
M (6, 14, 30)
& VR NNT
A (@) 4,16,28 WA b 7,12,2270 \
o, 6’
() 6,12,22 [ i/‘ (d) 5,12,20 o
SUHALOAL Lol A R TG e ol g
& &
(6, 14, 30)
7,12,22 (b) 416,28 (a
> 12,20 (@) 612,22 ()
B-22 (SET-A) @
N2 \°
‘\wy Q‘_y/\ 4
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9.  Which one of the given responses would be a meaningful order of the following

B. Community C. Member
E. Country
@) C,A, B,D,E

(d C,A,DEB

A ¥ wfaRrarel § @ @ ot FrefeRen g=t =1 o arefs w9 e

words ?

A.  Family

D.  Locality

&) C,ADBE
(c) C, A, B, E,D
A. REr

D. zamEw

(a) C,A,D,B,E

¢y C,AB,E,D

B. W@

D. 2w

() C,A, B,D,E
(d C,ADEB

C. a9

?fﬂﬁf}‘fdvufc. u.‘.’.:.glirgjjsc-,;;ryl.aliia,,hf__

A .C 54 B A
4 _E ¥y D
C,A, B,D,E (b) C,A,D,B,E (a)
C,A,D,E,B (d) C,A,B,E,D (¢
10.  Arrange the following words according to the dictionary and select the correct
alternative:
A. TORT{)ISE B.TORGNTO C.TORFED  D.TORUS E. TORSEL
(@ B,ECAD (b) B,E,C,D,A
_eY” B,C,E, A, D (d) B,C,E,D,A VEEg
TEHT B AR Preafiiad w= B waRad B 01 T8 R BT 5
A.  TORTOISE B.TORONTO C.TORPED D. TORUS E. TORSH!
(a B,E,C,A,D (b) B,E,C,D,A
(c) B,C,E,A,D (d) B,CED,A P.T.O.
B-22 (SET-A) (5)

https://www.jamiastudy.com

™y
-4




-Lf/..};djl.:' ";;ld:vfjﬁwfdjgjﬂauy-iéﬂ

TORSEL _E TORUS _D  TORPED _C TORONTO _B  TORTOISE ,
B,E,C,D,A (b) B,E,C,A,D (a)

B,C,E,D,A (d) B,C,E,A,D (¢

Directions (Q. No. 11 to 12):

Find and fill the blank space with number/ word which establishes the same

relationship as shown in the previous pairs of numbers/word.

e /9= g2 9K Read @ & W ot fiew denas @ 918§ REw 1 smar

T T HT &

gﬁkLaJI/LJJ/J/L-vc_t'/(b/;d;iJ//M"’JM//Z;:L}%JI& (12;11/&:’).—&!4
@ —e Ut iz

I1. ?%QS :64: 7

&/ —686 (b) 686

(d 2
12. Iron:anaemia::Sleep  ?
(a) Somnambulism (b) Dreams
(c) Insomnia (d) Nightmare
(@) Fmr gy (b) &@
oy afe (d) ge=
B-22 (SET-A) (6)
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¢ DL |y

1 (b) ....Jquu‘;w (a)
AN C)) Ui (0)
Directions (13-14) :
Choose the odd numeral pair/group in each of the following questions:
e (13-14) : Prfafee 9 ¥ ¥yl F fraw e a@ g/ B AT
JILEEs I Si7 S S D5t (13-14) = L

13.
a )
(@) 1836 .2 (b) 15-25 ¢ 15 2 ™
= i
k7
59/ 25-54 Y (d) 27-81 ﬁ-f‘ ~T2
14 ws "'\ u%;f
. '/_?i:"a o
(a) Evil: Good (b) Lie: Truth i,:;_’
(c) Abstract : Concrete (d) Sound : Light ﬁ-l“u
b
(@) TuS: 3BT (b) o2 : 8™
() orpf: 3w () &fy : were
&:ed (b) i dx (a)
L‘,‘;j : T (d) .f:‘; . &? (c)

15. If OUGHT is coded as ABCDE in a certain language. How can TOUGH be coded

in the same language?

(a) ABCDE (b) BCDEA
(c/ CDEAB (dJ/EABCD o 'T -
o ¢
B-22 (SET-A) ™ 2 5 @9
%F‘
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af? QUGHT & & ffyga weT § ABCDE # w A P fepa ey 3

TOUGHas‘rtfeﬁwﬁ%ﬁﬁ%?rfﬂmmaﬁr%?

(a) ABCDE (b) BCDEA
(c) CDEAB (d) EABCD
Gl TOUGH £ LiS1-e bl 3,4 ABCDE LI G ¥ OUGHT./]
BCDEA (b) ABCDE  (a)
EABCD (d) CDEAB (¢)

16. If BITER is coded as KLMNO in a certain language. How can TRIBE be coded in

I?
the same language? x'g / 7/ ({c ,-J’/‘\
-~ | | e 1BE
(@ MOLNK {(b)"MOLKN / ~ TR
MNO
() MOKLN (d) MOKNL oK

AR pppr B O FREd WA KMNO @ &9 Fifed far ofr &1 TRIBE :1

H AT |aT § DA HIfed fmar AT qHar 87
(a) MOLNK (b) MOLKN
() MOKLN (d) MOKNL

¥z WelS TRIBE u:c;;;w_q,wy’;ﬂ#LKLMNou:u;;Juﬂ BITER /]

MOLKN (b) MOLNK  (a)
MOKNL (d) MOKLN (¢
B-22 (SET-A) (8)
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17.  Pointing to a man in the Photograph Ravi said, "His 'son's mother ‘is' the only
daughter in law of my mother". How is the person in photograph related to Ravi?
(@) Brother (b) Uncle
(¢) Father (d) None-of these
I § u grew A SN IR HW g W X F@, o 32 A A Ab W A
TR =g ¥ 3 A BT ¥ @y ot wdkm ¥

(&) (b) =

(c) fwar (d) ¥ & =g 7
uﬁazr‘-’“-ﬁ:-::f3:(1Jul-dﬁ’uLJ:L.LJ'”flq‘/é-m"—fuLﬁ'J)’Jﬁ-QJ-J'ﬂﬁi—du
‘e é/a-duﬁﬁf
& (® du ()
Sty (@) Jis (o)

18.  In a cinema hall, 8 friends H, I, J, K, L, M, N, O are sitting in a straight line

according to the following rules.

e J is the neighbour of K

e H is just next to the left of L

. [ is in one of the two seats in the middle.
o M is the only one sitting between I and L.

If N is not sitting at the extreme end, then who occupies the extreme right seat?

(@ H (b) ]
() K (d) EitherJorK
P.T.O.
B-22 (SET-A) 9) ML
<> <.
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v R & &, 8 B 1,1, J,K, L, M, N, O fepeaffae Al & TR 0% s

WA AR E Ao gL

o g K wIEE b

= wf g Amsamar ) g “
O i HARI T F Y 5 z A s “‘;\

o Ha M, [ AR P AT 5 % WL
uﬁwwﬁa%aﬁxﬁzwaﬁh%ﬁnﬁa%mﬁzﬂﬁ?h%

(a H (b) I

) K (d) ardrjarg

L A L Uit 3000, N, M, L, K, I, I, Heens 82 Jild_g
-& ,be’ Kd %

t;;, 0 ( ’_4._L ‘ e SALNLL S VLU H
F} - " L ~e gkl tusonlbal

- M Wigeal Lyl %

e L‘.‘wc,..a?u;f; =371 1% e 7 rC‘IirJL;‘P'iN)T

J (b) H (a)

K(J () K (0

19. Ramesh and Amir start a race, and together they run for 50 m. Ramesh turns right
and runs 60 m. While Amir turns left and runs 40 m. Then Ramesh turns left and
runs 50 m. While Amir turns right and runs 50 m. How far are both now from each

other?

@ 60m (b) 100 m

(¢) 20m (d) 150 .
)
B-22 (SET-A) (10) o Y Com
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WY AR IR T A 6 FA § A I wF I 50 Hex a7 Az ¥ @y o
e ¥ ol 60 rex Agd ¥ Tl PR awd Hqyaw ¥ o 40 e dzar ¥ R AW
MG e ¥ o 50 dex AT ¥ TS PR ¢ yzar ¥ o 50 Hiex dgar 4 ST
I TH T A R R

(@) 60 Wex (b) 100 Hex

(c) 20 dex (d) 150 e

Lz sy 260 g}bfbﬁ-gﬂ LS50 ZlLlosl {;65;;3JHQL/|GJJ]J£:‘

322 50 et 3P 156N IS0 it U\ JE A 10 A0 s p S AU L

St e skl o
100 (b) ~~60  (a)
150 (d) 220 (¢)

Direction (20-21): Complete the series in the given questions by putting a number in

place of question mark.

frdar (20-21): g o gl A HEW H AEES T 3 WE W 0% G605 &
qq H1 |
_.J_/L,J‘)';;‘/{u:;fUlréier/@ﬁ‘;;Ju@.)Ir:(ZI-20/:"Uly').;:.«kl4

20. 64 28 92 56 148 112 ?

(a) 332 (b) 296

() 276 (d) 260
21, § 6 16 57 7 1245 7506

(a)l 6 %%W. j i (b) 16

© 57 . 3 5 @ 248 PT.O.
B2 serA) AL (1)
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TQ-Z ""Sﬂ]ﬁ?fh‘éﬁt: Shtﬁe pCdpld are as ﬂormp'['s as'_lxxxrl_ 16 ¥ T tTTTHIE T+ -J T ¢

iy viConclasion:: ™ o

R ()T XXX s corrapt;

(b)  Most of the leaders are corrupt,

(¢)  "XXX'is not corrupti: .,

(d) Leaders are not corrupt, _
T F® T XXX F W9 we ¥

(@)  =xxx v ¥ /(b’f arftrmiy W W |
(c) 'X}_fx" e T ¥ (d) o & ¥
ok

-XXX'Z B S i

- :é.
S22 (b) < UIFAXXX'  (a) ‘
- Y. ... — — -‘ - * a
SR (@) T T s sl Sy e
t O ' B
23.  What replaces the question mark? | -~ -
FIG 2= 15 4 13 7 10 11 6 ?
(@ 15 (b) 16
(c) 17 “(d) 18
o e & e w Ay & 2
I 16 2 15 4 13 7 10 11~ 6 ?
(a) 15 (b) 16 h
(¢ 17 (d) 18
B-22 (SET-A) (12)
A-THey 0C.H
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LG PPLEIEIF

S st | fremsit
el 2 [as | & | B3| 7 | ot

16 b s @
18 (d) 17 (©

24. Ina certain.-c-c-lde ABET is wrltten as 3-5-11-41, how will CURE be written in
L T

same code? u! ¢ VRE

45 "
@ 3-41-5-11 (b) 9-35-37-11

© 1-17-5-11 {%3 311,

s e s o ABET&?[S—511—41%IETGTE!T% CURE ﬁazha%\gﬁ‘%@f

1

ferar T? |
(a) 3-41-5-11 " (b) 9-35-37-11
© 1-17-5-11 (@) 743371
e¢2_ el CURE3(51- /10 3-5-11-41 . ABETJJJ#_ﬂ
9-35-37-11_ (b) 3-41-5-11, (@),
7-43-37:11 (d) 1-17-5-1L (o)

25.  What should be placed on the position of question mark?

Pituitary : Brain : : Thymus : ?

(a) . Respiratory Tract (b) . Spinal Cord
(¢), Throat (d) . Chest
| | e P.T.O.
B-22 (SET-A) (13)' a
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v fre &t T W F= @ T ety
Rregedt : wftess « : o : 7
(a) waE o (b) weavs
(Q/é. (d) Bl
?%.gbﬁ.%ﬁJ;Jqur_Aéé_/J{r. ke
vde: IO

S4ley, (b) .
- S

2 (d)
11 ©

26 What should be placed on the position of question mark?

Blunt : Sharp : : Sow :

(a) Hide ®) Reap
€ Fam (d) Spade
Wﬁ%ﬁ%ﬂﬂ@mm%é?
ERE R
(@) T (b) Fre
© b (d) Fow
GG Py
Citg: @ g
(¥ () tr ()
Jw (D) = (0
B-22 (SET-A) (19)
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27.  Which of the alternatives may complete the incomplete Pattern?

? * o
¢ S v’ A ‘v,v’ <>v<>v<> NN A
P ANNIC NS N N/ QOA’

a (b) (¢) (d)

VaV
A ’{]0
70X ¢

—
e

e & & A9 |1 oy Yo T AR wHa ¥ 2

l

f?

' % Q[Z’ZQ <>:<>v<> oo%
=
BANZ RN T INOZNIN

(a) (b) (c) (d)

*
<
2NN ¢

‘e I s dros

SRR
>

<l
/ INEN ¢

(a) (b) (c) (d)

P.T.O.

B-22 (SET-A) (15)
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28.  If P means +, Q means X, R means + and S means —, then 18Q12P4R5S6 Meaps.

(@ 59 (b) 90

(c) 53 - (d) 43

WP o, Qo x, R oW 4 S Wty
I8QI2P4R5S6 #r g7ef - \ B AL A5 \3

(@ 59 (b) 90 )%?L

y 53 (d) 43
Sy

h.*"uz"b/18Q12P4RSS6;-‘L.._.beﬁ/s,ulh:_*__.,aﬁfisca_Xh._-&’b/Q:r_ﬂ_a—w-‘b/Pﬁ 7,
i * r. * ,y/l

e

t s 5
90 (b) 59  (a) gl
43 (d) 53 (© /;

29. 1 ' i
n:12 hours how many times 90 degree angle will be formed between the hour and

minute needles of the watch?

(@ 22 b) 18
© 78 d) 56
12&%ﬁﬂﬁﬂ%ﬁ%eﬁwﬁqza%§3ﬁ$ﬁaﬁm=ﬁmgo%ﬁwaﬂqaﬁm
(a) 22. ®) 18 o
) 78 (d) 56 AN
Wé‘&J‘%”Wdf@go‘*bﬁwéufch..mu:de}fLﬁg 12 A
18 (b) 2 @ 4
56 (d @ e
B-22 (SET-A) 16
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SIS FDEYD L sl £ Sevileris”

11
15

()
©

30. Select an alternative for the empty box to represent a pattern.
5 151 10
4 171 9
10 | 2 10
(@ 11 (b) 12
(c) 15 (d) 10
@wwmm%mmm%m@ﬁmmmﬁ.
54 15 10 -
4 1719
10 |2 | 10
(@) 11 (b) 12
(¢) 15 (d 10
5 15| 10
4 171 9
10 | ? 10
12 (b)
P.T.O. 0@
B-22 (SET-A) (17)
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31.  Which of the following attributes denote great strengths of a teachr ?

(A)  Full-time active involvement in the school management

(B)  Setting examples

(€)  Willingness to put assumptions to the test

(D)  Acknowledging mistakes

Select the correct answer from the codes given below:

(@)  (A),(B) (D) (b) (B), (C), (D)

(©)  (A), (C), (D) (d) (A),(B),(C), (D)
Frafafes & & 29 ot frdiwar e 3 7em it o aafid @ o
(A) o w&e & gof wiferes afhg swrfierd

(B) Semwr 42 @

(C) =wr=amsit & gqdveor & z=m7

(D) Y&t & AR HET

= T 10 Bz § F 9 s w1 w9 wi-
&y (A), (B) (D) (®) (B), (C), (D)
© (A) (©), (D) () (A), (B),(C), (D)
B-22 (SET-A) (18)




GBS L SIS e b A 5k
=LA HI U ASE (A)

/FsJe (B)

JIPEE v (C)

(JJ2ULEé (D)

ISP st s

(D)(C)(B) (b) (D)(B)(A) (a)
(D) (C) (B)(A) (d) (D)(C)(A) (o)

32, Which one of the following statements is correct in the context of multiple-choice

type questions?

(a)
(b)
(c)
(d)

They are more objective than true-false type questions.
They are less objective than essay type questions.
They are more subjective than short-answer type questions.

They are more subjective than short-answer type questions.

et & & $19 71 w7 ghweda R 3 99 @ qa § w3y

H)
(b)
(c)
(d)

9 WE-TAT bR & 9 A o § s aghvs ¥
9 e YHR F I B gaar F H0 qege o E

T WY-3ER THR H UG Y gon & ftre st ¥
9 TR TR & T B g F i AT §)

B-22 (SET-A) (19)
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i
i
=

o}

L1}
w
A
u

?.?_é‘u;.,,w,@_U:J,_:.,._?ww)"tfiamr&?@-m
B ZnSputie el (i, (o

s LS lec Lo, o
LSy a}LJU:.Lw‘LU-’,’fL"’“:’I’?ﬁ?:’ (c)

DL APt B L el Pl (o

33, What are required for good teaching?

(A) diagnosis (B) Remedy

(C) Direction (D) Feedback

Select the correct answer from the codes given below:

@  (A),B),(C) & (D) (®) (A) & (B)

T e ol e

©  ®),©&®D) D) & (D)
D e B farg @y A & 7

(a) fem (b) =y

(c) e (d) wffrar
ﬁ%ﬁqwmﬁﬁaﬁrmﬂwﬁ:

@) (A),(B),(C) & (D) (b) (A) & (B)
©  (B),(C)& (D) d (O & (D)

B-22 (SET-A) (20)
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e SnfUd L Rus

i (b) £ (a)
AT (d) e (0)

NS IR SR NT
(B) .1 (A) (b) (D) .51 (C)e (B) (A) (a)

(D) .5 (C) (d) (D) . (C) (B) (c)

34.  Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.
(a)  Avoidance of proximity (b) Voice modulation

(¢)  Repetitive pause (d) Fixed posture

T F BTl B G FW e B G AN D TewEyel o e w5

(a) FrEear @ o _(p) s wtggaw
(c) e a= AR T (d) fafyea o=

S BB bt s g L e s B a1

ek linT (b) e (a)
P.T.0. Ailkifuf (d) S ()
B-22 (SET-A) @1

T I T e AR
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35.  As a teacher, select the best option to ensure your effective presence in h
classroom?
(@)  Use of peer command
(b)  Making aggressive statements
(c)  Adoption of well-established posture

(d)  being authoritarian

w&m%mﬁ,mﬁmmmgﬁﬁaﬂﬂﬂ%%mmw
feee g
() wewelf (fa) smier (avmie) 1 wwainy
(b) smEE T A7
(oY oreft e & =l aw @ sroE
(d) awErd @ <
- ER Ty %;L&.ug@/ﬁgy}‘?@ (VLT S S
ol (b) JEKEUs  (a)
tyest T (d) i b/ P U AE (o)

36.  The use of teaching aids is justified on the grounds of:
(a)  Attracting students' attention in the classroom
(b) Minimizing indiscipline problems in the classroom.
(¢)  Optimizing learning outcomes of students.

(d) Effective engagement of students in learning tasks.

B-22 (SET-A) (22)
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:J/.Lf?c--.ﬂd'db;"%ukﬁﬁ
e FfLsanfrenE ® SO @
Bl lpurlE @ PGty ©
37.  Effectiveness of teaching has to be judged in terms of:
(a) Course coverage (b) Students' interest
(c) Learning outcomes of students (d) Use of teaching aids in the classroom
freror F quEiEaT B §ES dal F ST I aifey
(a) UTISEHA FAA (b) ®mEl & WY -/
(c) v @ HE & aRem (d)wﬁﬁmﬁmﬁﬂ@ﬂaqﬁm
- eyl ST Mol S 1! I Rk
S () LS (@
Ji‘;"lﬁu'ﬂ.ﬂijﬂfﬂwﬁ/ (d) J"ijrl'f_,lb (c)
38 One of the most powerful factors affecting teaching effectiveness is related to the
(a) Social system of the country (b) Economic status of the society
(¢) Prevailing political system (d) Educational system P.T.O.
B-22 (SET-A) (23)

FOTeTor WETAT T SYANT TH SHTUR W I ¥

(a) FOTEER ¥ BT H S ATHAT BT |

(b) T ¥ JFUIEEAT B HAETSA B FH F 1,
(c) BE® ded & qRom HSTIHE |

(d) Hray st ¥ o A W wrfier ) -
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e e T 4 8 8 vy
(b) Fen o Sl Rt
(st

- Pt Pbe LIl e 2
| et (o

Rarer sresfrer Y SRR T
(c) o vorifes saaear

=S fle (b)
rLEIu‘..Q (») (EGLary (o)
39.  Which one of the following is a key behaviour in effective teaching?
(a)  Using student ideas and contribution
(b)  Structuring
(¢) Instructional variety

(d  Questioning
ﬁwﬁmaﬁ#ﬁ?mmwﬁwqu% -

(a) Wﬁﬁaﬁaﬂﬂﬂﬂmwmﬁwj’

(b) &=
(c) P frar
(d) geaw ’
?ﬁ—_wjé-_ad,s,?wimdﬁ¢a;ﬁ?
=3 (b) ST ma S (a)
e/l (d) Ui ()
B-22 (SET-A)

(24)

e o
e
W R BT e e R Y r

https://www.jamiastudy.com



40. Which of the following learner characteristics is highly related to effectiveness

of teaching?
(a) Prior experience of the learner
(b) Educational status of the parents of the learner
(¢) Peer groups of the learner
(d) Family size from which the learner comes
Prafafaa & & o @t Rrerdt e Rreor @ awashaar @ g6k & 2
\}a) gy 9 & 9| gEd

(b) @Ed o B Arar-frar & s wfy

(c) HrE™ I B gepHl 6.

(d) uRaR #1 R fred de e awr R/

e Ml e i Sk R s h e\ A o T S L 30

a}."d:wgfoj,dhci)_lsé (b) u:'-[_,/:.z_JLfZ-Jg}f‘l’ (3).
e b T e P70 (@) SR LLnE (©

41. If majority of students in your class are weak you should
(a)  Not care about the intelligent students
(b) Keep your speed-of teaching fast so that students' comprehension level may
increase.

() Keep your teaching slowly

(d) Keep your teaching slow along with some extra guidance to bright pup‘ir"}:T.O.
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42.  Ateacher who s not able to draw the attention of his/her students shoyld
(3)  Evaluate his teaching method ang improve it.
() Resign from the post
(©)  Find fault in his pupils
(d)  Start dictating
%ﬁwﬁm&mﬁwmmmﬁmﬂﬁ%ﬁ%mmﬁm
@) o aghy g THHT Y S 98 § guw o
(b) v & Twfig i
(c) faenferd & opg G
(d) ferem g R,
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43.  Which of the following is the most important single factor in underlying the
success of a beginning teacher?
(a)  Scholarship
(b) Communicative abilty
(c)  Personality and its ability to relate to the class and to the pupils

(d) Organisational ability

Frafafea & & 21 ©& gooma Rers A ahaa ot w0 § qa8 weagt

A & & 7
(b) @ ewar

ey wferrer ol saat o Rigafefal & wafew o 3 avwa
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44.  If some of your pupils misbehave with you in the college campus you must
(8)  Report to the School Authority
(b)  Report to the guardian
(c)

Try to im ' '
prove their behaviour by your own character and scholarship

(d)  Mobilize other teachers against such students

m%aw%Qﬁ¢WHaﬁMWﬁvrﬁam%;mrgﬁmnaw&%eﬁammﬁamm
’ S

:{_J,l’u;u..?.,fiugz_f;fkéjvéw AL e hs i
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~LA 31 (a)

:
e/
]
A
ok iR

-Q)::.;;J:C:.w,;/ (b)

_qfw"fd/é_t-, /'%"ffdf:)& Wl 3 T S (c)

-L,:/"J;JGI.L'H_./JJ;..;U-‘;&:P&%J (d)
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45. If back-benchers are always talking in your classroom, you should
(a) Punish them
(b)  Let them do what they are doing

(c¢) Askthemto sit on the front benches.

(d) None of the above
TR oA FET A i N 3T (Fe-Ta) P em e am @ F ar N

a1iey
(a) % 4T B
b HEFAIMITEBRBEI_
\(C),_-«-’éé?mérﬁa’améaﬁaﬁa%g
@) ot & W
;_Lgf.?,Tfug";.Jz./ag.fﬁ:;Luéigu-fruJLKL.,;Tﬁ

L,,’fq‘:.,‘);:ﬁp::i_)/ugﬁi (b) nl/"u:‘:’f (a)
S A s (@) s ol (©

46. An effective teaching means all of the following except
(a) Teaches with enthusiasm
(b) Finds fault in his/her students
(c)  Puts emphasis more on teaching than on class control
(d) Interested in making the subject matter understood rather than on completing

the course PTO
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47.  Ateacherin the class should keep the pitch of his voice
(a) High enough (b) Low
() Moderate
era (d) Sometime low and sometime high
O H uF R B o AN @t R T e
(a) Tt (b)
&
(©) =eaw |
D %8 o g IR FB TR e
GG T s LU
O ;
St (d) k0¥ (a)
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48. If students are not able to follow, you should

(a) Give them prompt (b) Make the teaching points easy
(c) Mlustrate with examples (d) All the above
R BT IFERT A F W T ¥, o sy wfvg
(a) Sz (b) Rreror Rigait 2 st aomg
(c) STl & qAETEY (d) sl ay
Sl e i b/
Sy Wetylii () L S (a)
W osir (d) S oAyt (0)

49.  If some of your student(s) pass remarks on you, you will
(a) Punish them
(b)  Expel them from the class/school
(c) Take revenge while evaluating their internal test answer sheets

(d) be impartial at the time of evaluation

IR AP FB B AW W ool w ¥, @ g w4

(a) ¥ <Ra @ (b) % Fagw ¥ Frewfta &t

(c) mmmeﬁwq@maﬂ%&wwﬁu

(d) e & v foner @ PTO.
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50. l
If a teacher is not able to answer the question of a pupil he/she should

(a)
(b)

Say that he/she will answer the question after consultation

Rebuke the student and make them keep discipline

() Say that the question is wrong

(d)  Feel shy of his/her ignorance
a&wﬁwwm%mww&%ﬁwaﬁ%ﬂhﬁm
(a) w@%wmﬂ%mmmm%ﬂ
(b) Eﬁﬁ*@fﬁﬂtﬁﬁl‘jﬂmﬁ@m
(c) & FE % 9o o &,
d g ‘

mﬁwwﬁ[
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51. Classroom discipline can be maintained effect; vely by

(@) Decorating the classroom

(b) Knowing the cause of indiscipline and handling it with stern hand

(c) Providing a programme which is according to the interest of the pupils

(d) None of the above
w%wﬂm%mm“ﬂmwmm%
(a) R W EAEAL 4

(b) SIIATET EFAT HT BRI AT AR T R Fwrerr

() @mmmﬁﬁﬁ@ﬁﬁaﬁaﬁ%a@n}
(d) =WeEa A | Hig T

S I SN S I
._*.sl;“d/{'uu K (a)

LI L Senide oSS tbon®  (b)
n bl S B/L,E;r-ui; i (<)

S Sz (d)

52. A teacher in the class is the

(a)  president of the class (b) director of the class

(c) l:_ader and guide of the class (d) All of the above

Hem H U P ®

(@) eI &1 Sreas (b) wom & FRY®

() =« 3R wem &1 Arieyfe () s a PTO
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53.  Inthe development of whic;1 of the following verbal guidance is the least eﬂ‘emive:
(a)  concept and facts (b) attitude and values
(¢)  Relationships (d) skills
ﬁqﬁﬁaﬁ#ﬁw#ﬁﬁmﬁ%ﬁmwﬁwm&
(a) SN SR e (b) W iR Ty
() e () e
e U G e
AB1slys, (b) Jfﬁmu % (a)
<Ay (d) =G (o)

54.  For measuring quality of education in schools or any institution, which of the

following is/are important?
(a) Available infrastructure

(b) Available manpower, teachers ang principal
(©)  Students achievement

(d) Ay of the aboye

(a) SYE g ey (b) maxm—mﬁa,ﬁmeﬁrﬁﬁqa
(©) o oy Ty @ SR Tedy
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55.  Any educational programme should be planned accordin g to the
(@) need of the children (b) ability of the children
(c) Interest of the child (d) All of the above
et it Qs Frdm A A R6HE IR T e ey -
(a) ==t A IwG (b) ==if 2t emren
(c) W @ W wm el
?EE_LgGﬁ&:WLU{:. Jd_jqudx:,,:""d}lj.;;ﬂw d’-ﬂf/
=A6SuE (b) =unflug (a)
Souxs (d) U,J?JJ{_ (¢)
56. Teacher's primary responsibility lies in
(2)  Planning learning experiences for the children
(b) Implementing educational policies
(c) Maintain_ing students records
(d)  All the above
B-22 (SET-A) (35)
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57. While teaching in a classroom if there is some indiscipline, then the teacher shoyg
(@)  Not bother of what js happening in the class
(b)  Continue his/her teaching without taking care of the indiscipline
(c)  Keep quiet for a while and then go on
(d) All of the above
mﬁwﬁwaﬁwmmaw%, a‘rfﬁmmaﬁasmaﬁqz
a) wﬁsﬂ@aw%mmqﬁ;
(b)  srgemETETT % qrare R i s Reror oy (G 4
(c) ﬂﬁé’r&"{%ﬁmm@aﬁ?fﬁﬂma%

d o gt
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58. A teacher is expected to do all the following activitjeg axcept:

(a) Participation in community affairs/activitieg
(b) Taking interest and participate in politics
(c) Assistand guide pupils to solve their problems

(d)  Sponsor clubs and other school affairs
e ¥ fFreffaa welt wfafaftell & $ % safe 2, Ry -
(a) wrgEItds A i § aeferd
Ap) TR & W 3 | A
() wwenet & g # fagaiial #t werar ol wnfesty wem
(d) @ 3 o wEE AT A AT
ZLIf’:u:/LJ,V/';’r‘VhJ“L?JPuf%S@Jg;’::._il}iu),
oot 3 e (a)
L'f.‘:'.ﬂ"uld.:'-{:u':.:/[._—- (b)
S Omaduit SISl (0
¢/ yﬁﬁrvﬁidﬁw__ﬁ (d)
59. Before starting the act of teaching a teacher should
(a) Know the existing and previous knowledge of his students
(b)  Be aware of the environmental variable acting on the mind of the pupils

(c)  Be competent enough to arouse the curiosity of his pupils

(d) All of the above
P.T.O.
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60, Teaching is mainly a process of:
(@)  Asking questions and assessing the learning
(b) Guiding the activities of the learners

(b) Hearing the recitations of learners

(d) Al of the above
mwm#mwm%mﬁ:
(a) Wmaﬁt%ﬂaﬁwmm

B-22 (SET-A) (38)

https://www.jamiastudy.com



e H‘..% Aty sk
Kd-/d WJJU’:'P/;,& bﬁ# T (b) KJ’JB“' L& ILLP iy TJ:lés" e Ul (a)

—Vpsir (d) b KT (o)
61. Who of the following own the sportsperson of the year 2019 by Times of India
Sports Award?
(@ Rohit Sharma (b) P.V. Sindhu
(c)  Virat Kohli (d) Jaspal Rana
T i IR WL S T A 2019 F A-Rrerdr Prfufa F & @ B2
() A gt (b) 4 Rig
(c) PR @ (d) o Ton
e % € 2019JH:J:’:-—JJ.:s,?w;J_.f.sL;,rf,_ffJJgu_L.:c;._; T4t
J’i"d’d (b) LAess  (a)
tuJi> -d) G (o)
62. Which of the following cities is considered to be the outbreak point of COVID-19?
(a) Beijing (b) Rome
(c) Wuhan (d) Shanghai
frafafes & & &9 @1 I8 Covid-19 ®1 yiv Rig qHT o 22
(a) i (b)
fef e (d) s
?%r[?w,?mm,;,&g’s’covm-l9fvc)f¢_u.fd_3,;,w
s (b) £z @
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Chief Minister of Jharkhand iy the

i 0
63. Hemant Soren was SWOIM 11 a8 = o,

of December 2019.
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64. Who of the following has been appointed as the first Chief of Defence Staff of

India?
(@ Gen. Bipin Rawat (b) Gen. Manik Shaw

() Gen. K.M. Cariappa (d) Gen. Bikram Singh
ﬁwﬁrﬁ@aﬁ#mw%%ﬁmaﬁmmm%mﬁﬁwﬁmm%?

() o R T (b) e mfve gt

N T T
CblJz (b)
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h of the following countries has become the first country t0 make entire hal

g5. Whic
process digital?
(@) Iran (b) India
(©) Malaysia (d) Turkey
Wﬁﬁﬁmmmﬁmﬁ%ﬁmmwmaﬁﬂw
87
(a) (b) sf¥ar
(c) W
?‘:--,.Lfk"ﬂ‘-‘6uf"-.-U”Lt"ﬁ;/ff—-i{fZ:é-ﬂbd[a-ddjg)ﬂ
Lz (b) et (a)
§o @ b (©)
66. The theme of 2019 World's AIDS day was:
(a) "Communities make the difference"”
(b)  "Societies make the difference”
(c) "Politicians make the difference”
(d) "NGOs make the difference”
2019 faga ugq feaw @1 fauwg & :
(a) “TYEE EF B N gy i w HT E
(o) oo o B &V (@) “a o ot v w EV
W {2y 6 53 k102019
ur dndier” (©) WSO @
P.T.O. i () a2 30 et (©
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67. Long March-5 or CZ-5 is a: ..r Rocket
(a) Satellite ®) com ter
) Robot (d) Fastest Compt
(c obo
Af=r w5 @ @ S5 0w ¥
@) e (b) e
) e (d) @ & T
e KIS IS5 ALY
it ® = @
Ly (c)

Ieder 22 (D)

68.  Which of the following countries was the partner country for the 34th Surajiypg

International Crafts Mela-20207?

(a) South Africa (b) Ethiopia

(c) Uzbekistan (d) SriLanka
ﬁwﬁm&ﬁaﬁam&wsﬁwmﬁmﬁmmzo%ﬁmmw

qr?
(a) Rror e (b) sRmfRar
(c) wRfram (d) i
?QJA};’-’/I/&L/@);_ u:dj,?zﬂiLZOZO—.y‘dj K&H:dl_‘;’.ﬂlc}:ﬁ/@l”
LA (b) 207 (a)
69 National Y. ' EJU’/ » U%ﬂ v
- National Youth Day is celebrated on 12 January on the birth ann: f
nniversary of ...
(a)  Dr. APJ Abdy] Kalam (b) Chandrasekhar Azad
| za
(c) Swami Vivekananda
(d) Ramkrishp,
Paramhansa
B-22 (SET-A) (42)
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70. Which Country has finished the year 2019 a5 the No. 1 shooting nation in the

world?
(a) USA (b) India
(c) China (d) Italy

g 2w X = 2019 @t g H T 1 QT U @ vy F g R 2

(a) 3T (b) s

(c) == (d) seeit

e VP 2019 i L e i dhdnd SERS 1At

ks (b) PT,
$i (@ S
71.  Name the longest serving ruler of Oman who recently passed away.
(a) Qaseem Soleimani (b) Qaboos Bin Said
(c) Tamim Bin Hamad (d) Haitham Bin Tariq al Said
B-22 (SET-A) 43)
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72. Which port is now renamed as the Shyama Prasad Mukherjee Port?
(a) Cochin Port (b) Kandla Port
(¢)  Chennai Port (d) Kolkata Port
oY {8 JE0me H A ToW FX AT qElt deUE HY far mr ¥
(a) +EW FEEME (b) wizar qrd
(c) == deme () T seTe
?‘?_g‘uﬁ;,,;L;:/Ep{,,.gL/ermmu@n
-.LJ{IJ,Z'.( (b) :«Jz’,u.?f (a)
bl (d) ;J?‘,gg ©
73.  Indian Railway signed MoU with wich of the following for Phase-II of e-Office
Execution.

(a) RailTel (b) BSNL

(c) Jio (d) Infosys
#Rﬁuh&%é%ﬁﬂmq%w-ll%fmﬁm%mqqaﬁq\mm
fru)
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4. Where was the World Future Energy Summit 2020 held during the month of
January 20207
(a) Abu Dhabi (b) New Delhi
] (c) Geneva (d) Tokyo
| freq Wi St RrET TEE-2020 TGN 2020 B wAY § @t o P T
qr?
(a) et (b) & R
() SFar (d) St
S YUEIIE 2020-0m8 1.7 8 2s 22 £202008,52
do (b) Qlesgt ()
L7 (D 52 (o)
75.  Robert Abela has been elected as the new leader and prime minister of which of the
following country?
/ (a) Morocco (b) Tunisia
(¢c) Maita (d) Algeria
{iad orden Frefefad & & frg 3w & g Jar ol weTeT g T &2
(a) wieaHt (b) i
(c) wmer (d) srehfear bTO.
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76.  Name the tennis player who has won the Men's singles title in the inaugural ATP
Cup.
(a)  Novak Djokovic (¢) Rafael Nadal
(c)  Roger Federer (d) Denis Shapovalov
wmmmwwmﬁmqaﬁmﬁwwmm
L
(a) - St (b) whw 7T
(c) T &R (d) 3F srdrETa
e oS et B3 1 GBIL A kS8
Jiz kL () Balz Sy (a)
Mgt (d) Bz (©)
77.  Who among the following has been appointed as Director General of Central
Reserve Police Force (CRPF)?
(a) S S Deswal (b) Anup Kumar Singh
(¢) AP Maheshwari (d) Samant Goel
mﬁﬁwmwmw(cgpp)%m%mﬁﬁgm
faar mar &2
(a) UH T Ha (b) 3T TR fie
(c) TRyl (d) W v
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Which of the following Districts received Swachchata Darpan Award 2019 for the

78. ot performing districts on key swachchata parameters?
(a) Meerut (UP) (b) Guna (MP)
(c) Kapurthala (Punjab) (d) Puri (Odisha)
P & & e B 1 T T WIS W A et w0 aw et @
forr T 24O O 2019 W 3AT?
@ wwan (6) T (e
(c) wHxEm (I=E) (d) g& (snfewm)
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| eV
QS ® WDse @
(250 () ()M ()
79. In which of the following city, the fifth edition of Science Film Festival of India,
SCI-FFI 2020 was started on 15th January 20207
(a)  Visakhapatnam (b) Panaji
(¢)  Kolkata (d) Chennai 510,
B-22 (SET-A) “7)
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2 VUL A 2020
g () AV
&% (d) 20 ()
80. Who has won the ICC ODI Cricketer of the Year award at ICC Awards 2019
(a)  Virat Kohli (b) Pat Cummins
(¢)  Rohit Sharma - (d) Ben Stokes
ICC FFargd 2019 #, ICC ODI Brdhex ot & ¥ orars Remd Siar 27
(a) fae Freh (b) ¥ =g
(c) afem smi (d) & =y
?cz;_tji_,gf(blgij:lﬁ;_; T}Uffﬁu_jusdgj Tu::zmg;sngugg@?
/;;. (b) s (a)
S () e (o)

81.  Which state government has signed a memorandum of understanding (MoU) with 3
i
|

the IUCN to red List orchids?

(@)  Arunachal Pradesh (b) Andhra Pradesh
()  Assam (d) Karnataka
B.22 (SET-A) (48)
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e T TN A JUCN F T IS R s % forg e s (MoU )

Fani o ¥ ?
(@) ST T (b) e
(@ T . (d) @t
s Jé(MOU)ngﬁi{'Jm AL 1FVLIUCN § a3 s0f
T (0) g Jitt  (a)
eSS (d) T ©
82 Which bank recently has launched cardless cash withdrawal facility from its
ATMs?
(a) Axis Bank (b) ICICI Bank
© HDEC Bank (d) Kotak Mahindra Bank
ﬁ;ﬂ%%mﬁﬁmﬁ@@ﬁm-@ﬁ%ﬁﬁwma&gﬁm%ﬁ%?
(a) ufFEE & (b) ﬂﬁ?ﬁﬂ%ﬁﬂféﬁ?ﬁ
(c) o & % @ 9% (d) mﬂﬁ:ﬂ%ﬂi
?(-_Jc,;yf&iﬁ@ﬁzim/ﬂ;mu%g.@u@:wu
| 6t o S @
il (@ s ©

i i i i surgeons  for
83. Which one of the following countries will train Indian flight surg

Gaganyaan mission?

(a) USA (b) Russia
(c) France (d) China
: Ry & g R
Prefifes & & @1 a1 2w iy ggm Wl @ TN
HEM?
(a) gt g AR (b) &
(c) wiw (d) = P.T.O.
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?byd_::.g.f"“ié J’UL ﬁUﬁ/&LﬁJD}ﬁf J...gl./{;)‘l(a Lﬂdig}ﬂ

Ui (b) USA (a)
% (d) S (©)

84, i
Ritesh Agarwal, who was named as the world's second youngest billionaire, is the

founder of which Indian start-up company?

(a) Zomato (b) Oyo Hotels

(c)  Byjus (d) Swiggy
ﬁﬂwm,ﬁ%gﬁmﬁwmgmmmﬁ%mﬁﬁaﬁmwm%q
WA RTE-317 70 & deargs ¥

(a) mmR (b) ot g

\(%yjus (d) Swiggy

?é.dl:sl(;‘;‘;;h.".«.fu-ldt'-dﬁf J';.'Hd"'_. blft;_r{z,u'_aﬂ/fﬁ/}.! (EJ&.:JI});IJE;

St (b) s (a)
Sr (@ UE (©)
85.  Which state recently passed resolution to conduct a caste-based census in the state?
(a) Bihar (b) Madhya Pradesh
(c)  West Bengal (d) Maharashtra
ﬁww#mé’rﬁwﬂmﬁrmﬁammwwqﬁaﬁmy
(a) fer (b) we wyr
(c) wRerft s (d) werme
B-22 (SET-A) (50)
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¢ ”E:gwi/“'é__-’f-‘L-'fLSJ“ir"/‘dL;"-'L*'iﬂwLzi_-:.«-'LJJ(u‘LSUb

ﬁJé-ﬁ-ﬂ’i (b) A @
A (D Jebr @
As of 2020, how many languages in India are given the status of 'Classical
language”’
@ 2 () 4
© © : ©
zozn,aﬁwﬂﬂﬁwwaﬂﬁ‘ww’ 1 T e a2
(a) 2 (©) 4
© 6 @ s
?ﬁ:._,lfk:a?ﬂKUL}(,EM}(LJ}I,}L?:):@E—:M:_EZOZO
4 (b) 2 (a)
g8 (d) 6 (o)

87. Which association recently collaborated with NITI Aayog's Atal Innovation
Mission (AIM) to launch artificial intellegence (AI) based module for Indian

School Students?

() FICCI \,MASSCOM

(¢) CII (d) NSC

o & F P et ¥ Al e o @ R G R (T ) S

e ) W B B R o 8 o T & o TR e (TRT)

% | qEdnT e

(a) FICCI (b) NASSCOM

(© cI (d) NSC P.T.O.
B-22 (SET-A) (51)
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VoA L(Edton b Gidrddr

NASSCOM (b) FICCI (a)
S @) AT
88.  Which of the following is the theme of the 'National Science Day' 2020 2
(a) Women in Science (b) Children in Science
(¢)  Youth in Science (d) Divyang in Science
Frafafea & & 97 wsfrg s Rag 2020 @ g 3 2
(a) «mEw # wfead (b) fasm & a=
(¢f e & gar (d) foare & Rt
‘e b At ioun B r820200 57047
&V (b) LSS (a)
FLostote (D UIZILT L () |
89.  What is the interest rate on deposits as announced by the Employees Provident
Fund Organisation (EPFO) for the financial year 2019-20 ?
(@) 8.9% (b) 8.7%
(c) 8.5% (d) 8.0%
FAW Wiy Fflr @reT (EPFO) Ta)T fasr af 2019-20 & frw s or w
AT XA E 7
(@) 8.9% (b) 8.7%
(©) 8.5% (d) 8.0%
B-22 (SET-A) (52)
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P

« s Sl (EPFO) R AL Thass,
i 3 Z//“&r45°’/01“ SALTBL s 200d £2019-2000 44

o e &

8.7% (b) 89% (a)

8.0% (d) 8.5% (c)

s

tute has developed an Al-powered drone to counter unregulated

ned drones?
uﬂmanHT—Delhi (b) IIT-Madrs
(a) {odian Institute of Science (d) DRDO
‘;ﬁ o s 3 PR ST I w0 R AL e 2 et
T ¥
e e (d) & o & o

() .
JT‘,__,,“L_/_L,Qu»s’u;yiéa,u/ﬂé_..ufﬁdbwu’(

boddidr (@

Sldfe Sy (©

hemically, both as a metal and a

J!MJL;TJT (b)
3!0’51 ﬂji (d)

Which of the following elements behave ¢

91.
non-metal?
(a) Argon (b) Xenon
(c) Carbon (d) Boron _
e & @ A T T g o T A ag B w9 T ¥ ¥ S
T &2
(a) emfa (b)
(c) @ (d) A P.T.O.
B-22 (SET-A) (53)
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?.::_f'f e {5:&{6)1_5/ Ul /{',:31.:, Lw.h.g/‘” LfL'JJQ:- o LZ SEIYS

5z (b) ST ()
sy (d) ¢k (c)
92. Faraday's Law is associated with:
(@)  Electrolysis (b) reaction of gases
(¢)  pressure of gases (d) Temperature and pressure
BT T e W e gAT R ?
(a) so=fafRm (b) &t @ wfferan
(c) I & g m (d) e @R TE e

e s Ji 5l ITE 31}

Sk ) S0 @
SosteddZos (d) LU (©)
93. Lime water in the open air turns into milky because of
(a) Oxygen (b) Hydrogen
(¢) Carbon Dioxide (d) Nitrogen dioxide
Gl & # AT O gRE @ o B, awe
(a) it (b) wEge

(o @ =i sitwmes (d) T = sitemree
_;E_t;'[?:':J“J:«‘-U.fué_l.:%uc_.?sdeéu&gﬁ_gdIsz[

Jauu (b) UF,T (2)
U324 (d)
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(@ Sodum (®)  Alkali
(C) Fibre ‘ (d) POtaSSium
A I i B Lo | B oy ¥
(a) aifead ( &
(0 TEX (d) drfwm
-l -
i o N A LH’&‘&UL‘
Fy (@ (’; ((“))
e le of which compound? ” ¢
g5. Pyridine1san examp
(a) Aldehyde (b) Alkene
(©) Heterocyclic (d) Ketone
yhdm e dife & T ST §?
(a) TEETES (b) uea
(c) EeluEixe (d) @
e JoS Ui
ﬁf (b) ()
g (d) iyt (o)
96.  Which of the following help in the synthesis of proteins from amino acids?
(@  Mitochondria (b) Golgi bodies
(c)  Plastids (d) Ribosomes
Pt & & 3 onfi uftvs @ G @ WA § HEE FX &7
() Wity (b) deiBE
(c) wfes (d) TR P.T.O.
B-22 (SET-A) (55)
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e

c‘.‘...t'/gJI. qu‘)’/a. o J J,.?JMJ _/C'd/ 0 SV = A8

rL:IJf (b) L (a)
rrils (d) Jig o (c)

97. What is mushroom?

(@) Fung (b) Bacteria
(¢) Plant (d) Virus
AYEH T &2
(@) wf (b) e
(c) wie (d) awE
e u’r, Y
L6 (b) F @
Jos (d) < (©)
08.  An essential need for germination of seed is the presence of
(a) Minerals (b) Water
(¢) Light (d) Temperature
€ 3 g & fog saent SuRkafa amawEs §
(a) @ Mb) Tt
(c) wersT (d) e
s o2 ;,J,/J"l?i.,gJu/ﬁL@
LS_L. (b) =L (a)
a7z (d) G (©
99.  During Photosynthesis, plants make use of sunlight to convert water and carbon
dioxide to:
(a) Carbohydrates (b) Proteins
(c) Hydrogen (d) Enzymes
B-22 (SET-A) (56) s
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g

Wga\mﬁﬁ@%mwwm%lwmaﬁm@

S

B EESAL (b) W=
(a) " @ e
(c) P _Jﬂjﬁwféi';d}E'/J’I&L-'L/JL:}I(G%JJ&MYLJ%UU”LJ}G@
. (Vi " }
s/ U B (b) o (@)
frn (@ okt ()

f the disease malaria?

. mﬁﬁf 0
What is the ©
100. (b) Aedes Mosquito

() Qand fly

. d) Anopheles Female Mosquito
(¢) Culex Mosquito (d) P 4

o R 1 T N E

(o) & W (,b) T ST
() AT BT (d) TATGei AIET WY
e A KL A
A (b) Jukr  (2)

/’fui.u'y;?f (d) /fu’grf (c)
101. In circular motion

(a) the direction of motion is fixed

(b)  the direction of motion changes continuously

(c)  the acceleration is Zero

(d) the velocity is constant P.T.O

B-22
(SET-A) (57)
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ol (weger wivm) &
() Wy Y Reem Pfter et & (b wfer oY R AR SRoRt v 3
(c) = g dar @ (d) ¥ fex B @
U‘:@G"d}b
< Sulnd s erlets (b) bl erfai7 ()
<35 (@) sepf A ()
102. The unit of power is
(@)  watt (b) joule
(¢) newton (d) kelvin
AT 3 3E &
fa) = w= (b)
() === (d) e
%JKIJ.::!W
Jz (b) <ty (a)
ok (d) g (©)

103.  Which of the following involves electromagnetic induction?
(a) charge is put on a rod
(b)  an electric current produces a magnetic field
(¢)  amagnetic field exerts a force on a current carrying wire
(d) relative motion between a magnet and a coil produces an electric current.
Fretforfia & Rl P gt ST et &7
(a) = uF W W wemar o ¥
(b) P o U qa A B SR aed b
(c) U= g9 & o 3 & T 9 A W U q9 e &
U @ guw o gew @ di w0w W o R v @ sane ad

B-22 (SET-A) (58)




S by o 52 WOt e Ut 3 i

~Febotl LS E G (a)

~t e (S E o)

~e UBSb L bdn b o (o)
e G Qe P sl (i (@)

med by 2 concave Mirror is observed to be virtual, erect and larger

image 1° .
j04. The  Where should be the position of the object?
bject.

than the ©

(a) Betw

. and centre of curvature
incipal focus
een the pr

by A the centre of the curvature

(€) Beyond the centre of the curvature
C

Between the pole of the mirror and its principal focus
(d) D¢

mmmmﬁﬁﬁa&wﬁm,mmaﬁmara%.
g 1 Rafy wet B AT ?

(a) T &2 IR TE BHE B 9

(b) T % A |

() AT HZENR

() o & ga ik SEd ugE wed & A

| . & " 3 'La:fdﬂ
d"fu‘vz'/d)&"-’gl,(bgf.{_6%’5;‘55;,;&;4_&gfj,,d;éidngﬁr(f@fi’.“ *e b
b

(b) UL’J}Z«/‘;J/J:J T}":’Jslﬂﬂ (a)

0 T .
{'zj' /J/ ‘__f,;;,/é.:/-j"}r (C)

P.TO. U.‘(’Jﬁﬁ-ﬂ‘)‘%m.’,ﬁigf (d)
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105. The change in focal length of an eye lens is caused by the action of

(a) Retina (b) pupil
(¢) ciliary muscles (d) iris
Jite A7 @ BEa aad § T B BFar & HrRer Bar ¥
(a) W (b) et
(c) uftrerdt wae (d) wRarfRer
e-Ore 8L S v dubis e £
sz (®) s (a)
AT (d) =W $ A (c)
106. Antibiotic Penicillin was discovered by
(a) Edward Jenner (b) Alexander F leming
(¢) Robert Koch (d) Joseph Lister
Taerfes SR oY @ ey @ oo
(a) usaE S (b) U=t wafwT
© AR = (d) “ow =R
?GKJ:J.L-J:;JJEZ.J(Q}::’J;"\:&I
L2 B (b) ik (a)
Az (d) Bl (©)
107. Which of the following is the first word processor application?
i_ ;zf MS Word (b) Apple I work
(¢c) Word Star (d) Word Perfect
Pl & & B vear a8 WA ity &2
(a) oo ad (b) Torw o o
() +=wr (d) =€ e
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P

e U%QEL'/:'!-; 329 U:ﬁu,v(x:.. S isian

JsJT 7 (b) snads (a)
_‘fgf;;"’ (d) Atis ()

;s valatile memory in a computer system?

108, which of © ROM
® RAY : (d) Hard Disk
optical prive
© °F F 4 D 4 aeeEa g ¥
e L
= (b) I
(© ?;‘_dm?ff Ié U'd’rﬂ-ddigxpuiﬁ,_{
ROM (b) RAM (a)
B CY fl;iﬁ;f (<)
109. OneTcraByte:? »
_/—'J S
(a) 1028 Megabytes \(/b)/ 1024 Gigabyte

(c) 1024 Kilobytes (d) 1028 Gigabytes

0% duane = ?
(a) 1028 HATATSZH (b) 1024
() 1024 FreamEed (d) 1028 AMIES
ﬁ ¢= AL
A v

o€ 1024 (b) SAgroz @
L”
| *;51028 (d) flﬁmz «©
Jﬁ" -

—

P.TO.
B-22 (SET-A) (61)
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110. Rickets is caused by the deficiency of:

(a) Vitamin A (b) Vitamin D
(¢) Vitamin C (d) Iodine
Ry, fraa & & srer gar 2
e A (b) f=f@ D
() R ¢ (d) omiem
St (b) S @
¢[3gT (d) S (g

1. 950-2=3697

(@ 13198 (b) 5814 A3 ﬁf’“
(c) 5804 (d) 4894 ﬁ@l
Sy
112. HCFof42,63and 140is..... Q )
1 qq‘,
(a) 14 (b) 9 }-*?f’*
A !
(©) Z;ﬁ.{ d) 7 4% / |
42, 63, HoHTEE 2% on
...... 27 . ’5’/{:} |
@ 14 1 ¥ 718

(¢) 21
« WSFEIN 140,563 (42

14 (a)

| 2 ©
113. 0.09 x 0.004 = 5@ |
@  0.036 \,m/ﬂ_ﬁosﬁ @fﬁ

(c)  0.00036 (d) 0.000036 MW
-

B-22 (SET-A) (62)
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hs 1 kg. How many cyp; _
) water welg c millimy t
4 L f E1es of water wij) weigh 0.1
g’ b) 1
a) 0.1 )
- @ 100
©) | el B Re O freingin
I@amﬁfmaﬂﬂ T B T 0.1 1y gy
) 1
(a) 0.1 J'b )
0 (d) 100
() ‘
i OIS CLT L 61
1 (b) o @
100 (d) 0 @
=7 g
115. 0.05 x 5—0.005 x 5= Y C_(_;e ;
(a) 2.25 (b) 0225 %g AT L
o o *Iu-l',‘ !‘
() 2025 (d) 029875 ~ - /"«?

116. In an examination, it is required to get 36% of the maximum marks to pass. A
student got 113 marks and was declared failed by 85 marks. What was the
maximum mark?

(@) 600 (b) 550
(c) 640 (d) 650
T ol ¥ Il 9 3 Rye sftman o BT 36% W BT AEEE &1 TH B
B 118 3% Bt o S 85 oft @ By A b7 AT | AR G FAL AT?

# C
. s P.T.O.
\\}‘r @’4; - é({f"' ‘%% ‘ J
522 (SET-A) st - i
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1

L SR NBEF i oL SISO AILL L gy g
AT o i gs
550 (b) 600 (a)

650 (d) 640 (c)
117. T '
he average age of 30 students in a class is 12 years. The average age of 3
8roup of

5 Sludellts Ol tl]e C a [S ][] b‘eal al]d [llat 01 allotllz g ] 1 5 S eflts

years. The average age of remaining students js -

(a8) 8 years (b) 10 years

(¢) 12 years (d) 16 years

:gﬁsomﬁaﬁaﬂmw 123&‘%:%%53@%%#%%10
5 Bl & TR WE &Y odve f

? mgma&f%m‘mrma‘ra%aﬁaaangawr%

() 8= (d) 10 o o Y

(
a) 12 af (b) 16 T 5w

Ll elPS 10 £y IS L g 12 LJEBOJJLK.C'
+ - = '

?..:-__l{f;-‘hfjfd;-wd“g_? Ju 14/-‘5/3!&:.,3;

JL10 (b)
JL8  (a)
JL16 (d) JL12
118. Ifradius of 4 circle is reduced by 50%, its areq 1s red ©
(a) 25% (b) 50% o
0
c 0
() 75% (d) 100%
B-22 (SET-A) (64)
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Eﬁﬁm‘w% Wﬁﬁﬁﬁ%?ﬁm

Sk (b) 50 R g
25% n

(a) o —(d) 1009,

©) P L w3 i o

¢ 2_. IJJJ;..JLJU’L.(?J’EBIJJSOO’GJ/J’;M&

7 50% (b) P

W/ 25%

7N 100% (d) ; ?

% (c)

- examination 70% of the candidates passed in gy oo
> )

119. In d in both subjects. If passed in
: e |
Mathernei> 1% e 44 candidateg Passed in both, the
total number of candidates Was:
@ P (b) 200
a
() 24 (d) 375
C

o e # 70% safiear St ®, 80% W ¥, 109 A forelt & ot gu af

oL ) \
aﬁﬂ‘mauﬂawwgma‘raﬁfaﬂﬁaaﬁaﬁma&- C&,ﬂf’"’“{ixlo
(a} 125 (b) 200 % {\/"-’ 3"

(©) 240 (d) 375 “

Vs Ry 10% .yl u.’!g‘z’l..,: 80%Z_sJ| uﬁd:;_,ﬁﬁ,gl?ﬁ% L,tuts'ﬂo; o
?jﬂﬂfJu:Jljgl;LﬁJkagl l44u:u;:51ﬁ-.i_ﬁ

200 (b) 125 ()

375 (d) 240 (C}

120. " A man buys 12 articles it at the rate of 1.25 rupees per

for 12 rupees and sells
article, His gain percentage is;
(@)  20%

(b) 25%
© 159 (d) 18% P.T.O.
B-22(SET-4) o
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T ®gn e -

RO

@ et 12 T H 12 T @iy ¥ oy sﬁml.%rr%aigaﬁtﬂﬁﬁam%
T e St 8 / |
o 20 -

20% (b) 25%
(©) 15% (d) 18%

4 H =3 ) I--’u ($4 £ . .
M’*bgdf-%rfu?ﬂ/é - L&dﬁ‘gu:{ﬂjjéjjﬂ“:_t}h]q‘ﬂlzgﬂ&’}12‘)47:‘1'/'
~ ' i ! )

&0 s :
2 it 4
/| s‘;ﬁq 25% (b) 20% (2
18% (d) 15% (c)

121. If the length of hypotenuse of a right angled triangle is 5 cm and its area is 6 sq.

cm, then the length of the remaining sides are

@ 1cm,3om (b) 3cm,2cm

(c) 3cm,4cm (d) 4cm,2cm

afe R Bt & wof ) waré 5 W ¥ ol T dw 6 R, A 4
A B AT -

(@) 1@l @t oo (b) 3 @i, 2 &
© s¥hadh ~ L (d) 4 %h, 2w

AU G 2 6 ke K SOUSAEA L 2

HE 22253 (b) HKE3HFL ()
HE220574 (d) K253 (©

122, A con
a - : .
0d a cylinder are of the same height. Their radii of the bases are in ratio of

2: 1
1. The ratio of thejy volum

es 1S:
(@ 2. 1
(C) 4. 3 (b) 3 12
d 1:3
B-22 (SET-A)
(66)
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T Rk LIS
S
@ (d) 1:3
() 4:3 -
- KU L i
-4 u:__,at,[,-? PSS G 1 L by ¥
§re VT
Wyt
3:2 (b) @
1:3 (d) 431 ©
3 147x7= 6909 .
123. 1 (b) 47 :f | %@
(a) 37 o 27 Kl ;{j . v ’\{'
cae 7 S
© 67 (d) 5 / $
124, 777777+ 11 =7? f’\?‘%
(b) 70707 5 N
b(aj/ 7077 s,
(¢ 7707 (d) 7007
125. What is the smallest number to be added to 269 to make it perfect square?

269 1 qof et @ o i o e BV e T St e R

CZE LA ®) 16* |

© 7 T, (d) 20 57
S e bt |
?.T_wﬁd,g;_'ﬂ,d,,d_gaimé.éa_/d y
" I,'\- rv("\" ,!;C) 31 [a]
‘a6 % %
; y‘“‘ 4 7 (©
FTO. N/ 20 (d)
TR (67)
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126. A gardener wants to plant 17956 trees in such a way that there are as many rows ag

there are trees in the row. The number of trees in a row is:

(a) 144 (b) 136
(© 154 (d) 134
qa?mﬁwgaﬁﬁswm%mm%ﬁ;ﬁmﬁﬁfaﬁﬁf%mﬁﬂg%l%
R ¥ U @ W 2- 2
(@) 144 ; T 0
(b) 136 U / ﬁ?ﬂ‘;
(¢) 154 (d) 134 W'Y
LSS B S F Ut 2 5 : /i
Ll stsis u:.»l.bu:dluﬂ:.aﬂ.’ifiu:;bh.gﬂfﬁ-_L‘:zlgtﬁz,/’dlfu?;;l'?gSGu?ng \
- - 'v\w%hl.
NN I s
R
136 (b) 144  (a) : O’E;
134 (d) 154 (c)
127. What is equivalent discount on a sale of any product with two consecutivcﬁ'\;{rt,
discounts of 25% followed by 20%? 7 f \mh.--';{{\‘Nl
~ ~ v Iy
(@) 15% (b) 60% % Vi M
(c) 40% (d) 25% - ;
5 S B 25% T 20% %amwwaﬁémw@wm?
(@ 15% (b) 60%
(© 40% (d) 25%

UnhoL eof st J s 20%25% ;2.3 3 S por s

60% (b) 1 5% (a)
25% (d) 40% (o)
B-22 (SET-A) (68)
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qumbers whose sum is 64 can not be in the ratio

128 TwO wl:.ﬂ; o
(:3) 3:4 d 9:7
ﬂ@“@ﬁﬁmtﬁﬂ 64 ¥ 7% 760 oTqum & 78 & e ¥
@ 5:3 ®) 7:1
© 3 4 (d) 9 27
_éﬂu.‘?w..,fl:fd 3&,;;{_645_9?51;)7-:16;}‘5:
7:1 (b) 5:3  (a)
9:7 @ 4 ©
129. If 12 men Of 18 women can do a work in 14 days, then the number of days that 8
men and 16 women will take to do that work is 5 .
@ 7 ® 9
(c) 8 (d) 5
aﬁmgwmlsqﬁmﬁmﬁﬁﬁ%maﬂaﬁﬁ%?ﬁmmifaﬂ%/
:qs/g'm‘faﬁ( 6 wfzanatt ® fha R e 1\}%;;;\;\}@
7 (b) 9
(c) 8 (d 5

LA F 151688 L o6 n G814 #18L5,121
9 (b) 7 (3
5 (d) 8 (©
joi th
130. Three years ago the average age of A and B was 18 years. When C joined them, the

- 9
average becomes 22 years now. How old 1s C now!

(a) 24 years (b) 27 years
P.T.O.
(c) 28 years (d) 30 years
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(a) 24 = (b) 27 =« af x—h‘?:ﬁﬁ' L
(c) 28 (d) 30 T ot A

&;PJC_.LQZ_J?:*:JLJZf&agl‘.,,r:f:fJL’iufu!Cu,—?-d;J'rIS/L’”JB”'A%JVU:

e
JL27 (b) Ju24  (a)
JL30 () JL28 (o)
131. The strait that connects the Arabian sea and the Bay of Bengal is?

(a) Panama (b) Malacca

(c) Palk (d) Bering

T AR SR S Y @ Ay a2 b

(a) wmn (b) wrerernT

(c) u= (d) sfar

?r.:‘_uu:'_, t‘fﬁ:@ﬁé’isl.‘,fuﬁqflﬁ
€L (b)

W (@
bz (d) S (¢)
132, Neap tides are produced when

(a)  The sun, Moon and Earth are in alignment

(b)  The Sun and Moon are at right angles to each other

(c)  There is new Moon

(d)  There is full moon
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(d) fefer 2

h-_-n?ﬂ(]ﬂfﬁ&!g_ﬂd_l?(ﬁ

6 ,I,‘:Lé-/""‘g‘ck”l&ﬂf (b) Uﬁdﬂﬁ]..ﬁd},,u;rbﬂ, (a)
Uil A

yixlplsy () wibl ()

If you cross the date line mOVIng east
33.

you subtract a day (b) You add a day

(2)

() You add 12 hours .

uﬁmqﬁaﬁﬂwﬁ@ﬁmﬁqﬂm%

(a) o T R TR E (b) T R o ¥
(d) T 12 €S TEW ¥

(c) o129 Jea B
T S bl G i 3PS5
¢ btk (@
Zuf(!g,j:gm (c)

(d) You subtract 12 hours

Ko l_erL;JJ...Q (b)

LS e 12 (D)

- i onsible?
134. In a parliamentary system whom 1s the executive resp

f the people
(a) President of the nation (b) House©

(c) Legislature (d) Judiciary

erdier sy & s R Ry SR o &

‘ e
(a) & iy (p) &eH HE o
L(S)/ ferenfanr ) SRR URE
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I35. India is a federal state because its constitution provides for
(@) dual citizenship
(b)  Dual Judiciary

(c)  Sharing powers between states and centre

(d)  Written constitution

TRA U WlIg 9 ¥ Wil 30T GRE ead T STTE S B

(a) q=H ArTResar
(b) el =Tt
Xof Ul SR #7 B dy T srfeat
(d) fofee afem
L LB e 63 iisteriy
= (a)
Ja$rss  (b)
I:/J/':;"!K:.,bﬁfu{?!.é}gmfuﬁ‘p (c)
o o7 (@)
136. Supreme court judge can hold office u

ST A F ey f Y T Fafer g ',
(a) 58 af ®) 56 7
(c) 62 = @os g
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JUs8 (a)
Ju62 (o)

Jus56 (b)
Ju65 (d)
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(b) Vice President
(a) president esiden

(d) Speaker

e w1 B A T M
(a) TE ST
© Qe (d) oreme
o g¥ e oo S afi
et (D) Prame
,E-f-’ (- (d) (5’!4_ i (€)
138 How many languages are included in the 8t Schedule of constitution of India
@ 15 (b) 18
(c) 20 (d) 22

w%aﬁuﬁﬁeﬁfa@?ﬁﬁﬁﬁﬁw&aﬁﬁ%

(a 15 o 18
(c) 20 @ 2 )
cpdSSEd G B |
“ 15 ()
18 (b
(b) e 0
N 2 ()
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139. The 86'h Amendment Act, 2002 provided for
(a) preservation of heritage and culture
(b)  safe guarding public property
(¢)  free and compulsory education

(d)  promoting harmony
863 Wl i, 2002 & Rre yar fsar T .
() 2R T HEET F GO (b) ardafes wafer e

() uw iR sifrard R (d) & F T
12002 £ T 6

LIS~ (b) L m{”z—ﬂ (a)
EnpeGE (a) Fiaeie (g
140. The oldest Veda is
(a)  Rig Veda (b) Sama Veda
(¢)  Yajur Veda (d) Atharva Veda
T @ A
O (b) T
(©) =g (d) oredae
]
A"’r[/ (b) Ay (a)
4341 (d)
4 ()
141. The Golden Age of ancient India wag dun’ng
(@) The Magadh aprn:
8- empire (b) The Gupta Empire
(c) The Mauriap Empire d T
he Rajput Empire
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(a) s A b) T e
(c) | ﬁ(wm
GO L K s ind
st (b) e
e VY ()
142. Who introduced the coin 'Rupia'?
() Sher Shah Suri (b) Akbar
(c) Humayan @ Babar
v o yataa far an?
(a) 9% e gl A
c) & @
‘-',L,I/C.i;u:o,g_J’ 12
A Gl @
4 @ - g (©

. [ b
143. Abolition of Sati was one of the social reforms introduced by

(a) Lord Wellesley (b) Lord Hastings

(©) Lord William Bentinck (d) Lord Harding

WWWWWgsWﬁwmﬁmﬁﬁﬁﬁm

(a) wifE Al (b) aré BRET

(c) wite fafeorm AR (q) «ré arT .
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144. The Khilafat Movement was launched in
@@ 1922 MZO

¢) 1919 (d) 1918
fere snEterw & T T ar
(a) 1922 (b) 1920
(c) 1919 (d 1918
Jﬁ&s}:ﬁlﬁ.{;
1920 (b) 1922 (a)
1918 (d) 1919 (¢)
145.  Which of the following was the official Language of the Pallavas?
(a) Tamil (b)  Pali
(¢} Sanskrit (d) ' Kannada
el &I SftERE AT Prafaies § F @
(a) aftm Ab)” e
(c) depa (d) w=g
Wbt
gL (b) J"? (2)
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ing is a0 example of recyclabie Tesources?: -

. 1 of the follow
g, W (®) wind
Fossil fuel
a (d) Metals
© W
e P (b) =
) .
e ?é—dw’ddhjéifn&ﬁu;cpuﬁdjﬁﬂ
e (b) Srdid  (a)
Sles (@) d ©

ich of the following 1s @ major cause of land degradation in Punjab?
147. Which 0

(a) Intense Cultivation (b) over irrigation

(¢) Deforestation (d) Overgrazing

mﬁ%wmﬁiﬁmﬂﬁﬁm
@ e (b) fers T

(c) = & wew’ W |
@a.__..f-Jg_m,uﬁ,_L.»Lc;su:_,@
Skl SO @
él.’fa.;:.alﬁ’ ()

HIT B2

S
J‘k-..« Tos\ iz ® (b)
bLZeslic a0 (d)

148. Pink head duck i§.an example of

(a)  Extinct species (b) rare species
(¢)  Endemic species (d) yulnerable species
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149. Black soil is good for growing
(@)  Rice (b) Wheat
(c) cotton (d) sugar cane
Fel gt ST B frg oy et @
(a) smaw b) A

LC/W (d) =

urd (b
) b (a)
L~ (d)
150 :
Which of the following countries js the largest cons U'-‘[fr (c)
@) Indi (b) Russia mer of coal in the world?
(©)  Canada A Chi
. Ina
f’;ﬁ@a##aﬁ?maﬁgﬁmﬂaﬁqﬁwmm
LifC ®) w STl & 2
(c) @y @
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Two SiSters communicate {0 each other in their code language often. Their mother
is unable understand them as they keep changing the codes often as and when they
feel like. What characteristic of language is not followed by the sisters?

(a) Language must be socially shared

(v) Language is a representational tool

(c) Language is a code that uses arbitrary symbols

(d) Language code is conventional | | o
2 e el S T ¥ SR T TR W WG F T | A T Fow T w
@%ﬂ%&m-mmm@%aﬁquﬁﬂqmmﬂw
SRR

() w1 H AEE §9 R gre R s e

\}bﬁ" AT U GRITATR SUET ¥

(©) W@ﬁ%ﬁqﬂﬁﬁﬁmwﬁwm%
(d) T FiS IHARE ¥

w@gfe}%;}-ﬁo;fufégaﬁ’ufukﬂuuJuu,dg[}/dw@psf/w& TS

| ( o sl ustatEads 3
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f sharing in fomlationn.,

s§ O

. o ) '« the proce

152, Which of the following is defined as "It is the P . tion
(b) Communica

(@) Speech
age
(€)  Hearing (d) Langudg

2y
ﬁwﬁf@aﬁ#ﬁqwﬁwﬁa%“wmwmaﬁm
(a) oy (b)-F

(c) gward (d) T .
‘ SISty = Gt U,

S (b) L @
i (d) = (C)

153. Which of the following describe acoustic events involved in the transmission ang

reception of a sound?

(@)  Creation of 2 sound source, reception by ear, comprehension by brain,

verbalization by mouth

(b)  Creation of a sound source, vibration' of air particles, reception by ear,
comprehension by brain

(c)  Vibration of ajr particles, reception by ear, verbalization by mouth,
comprehension by brain

(d)  Creation of a sound source, vibration of ajr particles, reception by ear,

verbalization by mouth & <t

%ﬁammmm%ﬁmﬁaﬁmmﬁmmm
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?JWL&LUU”J:;L{'H‘I} )
A9 19
blﬂc‘f‘tf‘:—ah‘ fU;h’"c...u:(;j'Jieu

o UB’JL!LLW" .
My .
Lf-c‘--f/l‘"w C—UK‘L"E’K s :!y—‘uJJ '!’_, (a)
LE::‘..CLJ:U;JG; A At (b

L—"’"’-L-.-U{(Lb !;/( IJJ[-!}‘;' (

Uia_m’cbfa.u{L*E’K_UJLW‘JGJML"‘ c)
413

(dy
¢ Process of communication is
154, Basic T;Ormu\ation' articulation, reception and comprehensior
t::} Transmissinn, 1rvz:n:¢ptif:mT comprchc.nsmn and foodbay
() Formulation: Transmlssion, ”':CCPll'On and feedback
(d) Formulation, Transmission, reception and comprehension
e 2 g ST g
() oo, g, T A Tw
M e, AT, BOFETT AT B3
(c) T, T S SRRt
(d) T, e, AT, T AR AR
-Jr Jf d:l;a.i.;m o
AT

Aaduzi s (@ ST (©
155. Communication is active and dynamic because of
(a} Feedback (b) Interpretation

sender (d) receiver

ﬁaﬂimﬁa%w%
(b) =eA

(d) R

LL;)JJ’J/"{,,W)’/Q(&'C,«()J’/
© L @

o e (b) -
i Wi Jf (d) e
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.o critical period i language deve]{,pmcm
156, Firg cight years of a child's life are

becange

(@) Child listens more than speaking

(b)  Child is young and impressionable |

(c)  child's brain is doing least synaptic pruning

(d)  child's language development occurs most rapidly aid € Fife-
TR E A S ved o o sy @ faepr F TS ST
(@) == 9 } vy g ¥
(b) 7= Zar iy g 2
() &= & aftaes &7 & @ frdifess g a7 w1 &
W T HT W R W ol @ e & ) )
oL ISl LS 81l J‘""Jé'
~ePolied y5 (a)
oL et FE e I st ton s (b)
_,;‘-_J,qﬁ;,;c_s;w;'cfs’dfﬂuféu&{; (c)
e dreadef e g
I157. Which of the following is not likely to increase the number of dialects for 3 given
language?
(a)  People speak multiple languages in a local geographical areg
(b)  People are spread over large geographical area
(c) geographical barriers isolate 4 community
(d)  Social barriers are present within a language Community
ﬁ%@a&ﬁﬁwﬁﬁwﬁwﬁﬁﬁ%ﬁaﬁﬁw&qﬁ;ﬁmqﬁ%?
(a) Wﬂ%ﬂﬁﬁmaﬁwmﬁ%w
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158.

(a) Lexicalization

(c) morphology

r/uﬁuru:uf?’.iug;&’u’&fﬁ—wm&

_L,g.ﬂ_:!dwd&c»r:ﬂu:i_mjy:/‘edwhg (

a)

FEnZ OB i yen (00 (o
I A A dae (o
_u.?dﬂu.“kd-w“-’uw/; UMy liLl (d)

Which of the following is not a rule of language?

(b) syntax

(d) semantics

Wﬁgﬁqwmﬁuﬁﬂﬁ%?

(a) QT Se
!9} sgfa fa=arg

(b) F=a-fa=am
(d) o fmmr

¢ -
?ﬂ,'_ J-:(g_,lr‘” E/L*JUL';,’JJUf vt"‘:'/”

(A D)
(FdeF @

159. Which of the following is used for rules of languages

language effectively in context?

(a) Pragmatics (b)

(c) syntax

(d) phonology

Silbed  (a)

(i) 37 (®)

concerning how to use

lexical semantics

w%ﬁaﬁ%a’aﬁﬁﬁwﬁ@aﬁﬁmmwwé‘?

(a) woifEmEE (b) afFEw q=T
(o) ar-fomar (d) & e

P.T.O.
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160. When does the ability to hear develop?

tion
(a) 3 weeks after birth (b) 6 months after conceptio

. irth
(c) 8 months after conception (d) 3 months after birt

A a1 e &9 i e &7
(a) T3 3 e AR (b) wfer & 6 FEA &

At & 8 W e (d) o= & 3 7éA 9=
?q_.&ﬁlg:gjﬁa’wd/a

6L (b) w238 P (a)
ol3L Pl (@) 8L (o)
161. What term best describes the conversation-interaction between a mother and child?
(a) imitation (b) Meshing
(¢)  Pseudo dialogue (d) Monitoring
TF A1 SR T & fiT Y ST s qed ovemr a0k @@ 27
() et (b) Sw=mET
()" agmm (@ Frreh
?% J%k%@w'ﬁuﬁ:ﬁﬁsiJ@LI;Lﬂdk—‘nié‘_nlul._g
F2 (b) F @
GF () ;.::;.;,gft (c)
162.  Regardless of culture children begin to learn language around the same time around

the world. At what age does it happen?

(a)  Between 6 and 8 months (b) Between 8 and 28 months
(c)  Between 2 and 4 years (d) Between S and 7 years
Wﬁﬁﬁﬁwmﬁ@ﬁmﬁw‘ﬂw%m%lﬂgﬁmwﬁ
g 27 %
(a) 6dFs87R P dm (b)/%ﬁzsqaﬁa}aa
Jw’ 2 R 4 9 B diw (d 5% 7 7m 3 419
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LALLRE (W) ARG (a))
SASILTS (@) SRS ¢
163, A child's first words will be about something
(a)  concrete (b)  abstracy
(¢} ume (d) colour
oF TR yeen ww R it F Ao
@ o= ()t
(¢) W (d)
Ug""”bﬁd-ztaf.u,;_ggrﬁmf,b’{:.
55 (b) 7F (2
£ (D = (o)

164. In a family the mother speaks Hindi and the father speaks Marathi and Urdw. The
child speaks all the three language but mixes languages. What term best describes

this?
(a) Discrimination (b) over generalization
{c) Multlingualsim (d) mixed speech

wE uftaw & d 8 S & ool far wdt ofr of dred ¥ 1w A6 S dear
& e el @) P B | T fr o o HE o T S E
(a) WewE (b) -
oy wwmmEE () fafrasmaot |
bbb i e D8 U UE e Ugsjjljslﬁ/..(pslq..G'Jidﬂulnu:dwi.{r
‘o 3 e B ARSI s

3 ()
(ﬂ}\-)c:.v (b) .
i L AN (©
PTO. Sib¥ (d) ";Q
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165. A child was having MOthg, tongue Tamil and studying at Chennai. In the fifth
‘ ue Tamil ¢

ken. He learns Hindi and becomes

dard he moved 10 @ Stag !

e It is ¢ Where Hindi is spo
uent in that also. 1t1San ¢

fl Kdmple of

. y iterac )
(@) emergent TIEREY (b) Bilingualism

(¢c) mixed speech (d) Differentiation

wﬁwmm%wﬁﬁwwﬁﬁwﬁa@w@wﬂ

¢ WFP:EE : o
(d) ﬁ:rfi zﬂ?ﬂ??ﬂ (b) W\’__/
(c) A AT, (d) e

-

V.IL;J;)LL}/;\—‘E/I

~ 1, . L .| .. _ .
- e LV : "
L!’r-'u J" _L_ju -uj‘"-'r._{._hg re .l:_ - [:::u;: r *-rs!;!'.__-’.' v

R VAV

1

S
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‘ - . - (_: ) )

=2l (b) SHESI N €
S35 (d) des¥ (o)

166.  The literacy approach of making children learn a set of skills before beginning

mstruction in reading is

(a)  emergent literacy (b) reading readiness

(c) writing rcadiness (d) whole language

qreRal gitewor § Tt & g drad B Ny gF B @ 1ed 4n e aay
TE FHEar &

(a) STeRTEN® BIEEET by U F qeE

() @+ aedl- (d) o wrar

-
—

- - A, e ' st &,
et s SR SR e e (S oo )b h SUFS7 g S8

-
:-’1 T :-""2" e :‘" - [ r.;;' > ;
Ll (o) (Ao iNSeidsnd  (a)
A ANIAYIES 1 F -
(a,u:.'vﬂ,r.)uvv (d) ,_;GUJ&G (¢)
(86)
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167. Invented spelling

(a)  Increases children's fluency .
(b) Interferes with reading development and mecnti()ﬂa" Spc\llﬂi-.-
(¢) should be treated as erroncous spelling

(d)  should not be encouraged

SIEEACEE

(a) =A@ & WEE FY qETT 8

{b) m%maﬁzwﬁmﬁﬁmﬂﬁm%

() e G @ w9 & A S el

(d) renfed 7@ far S =iy,

g2 P KL
;.t—/yJ“u'_;,u‘Jimstlu (b) c;_t*Lm*;_f&ml_}Luj- (a)
LbubeuiﬂJﬂfJJl (d) £t Bl (c)
168. Which of the following is not a basic language skill?
(a) Imagining (b) Speaking
(c) Reading (d) Writing
Sretutad § 4 BN g I B9 A &7
ay™ H (b) s
(c) g (d) e
S Heg S SIS LT
gy (b) L@
el (e) ey (©)

169. Which of the following is an example of Learning disability?
()  mental retardation

(b) dyslexia
(©) ADHD (d) Autism

P.T.O.
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(a)
(c)

170. Which of the follow;y,

(c)
(d)

foﬁCU“}*’ In fi

All of the above

At Wl
RS

(d) st
oo i S TSOIA S 50
RO 2kl
P27 (d) S3EI8 e

o OCCurs ij children with expressive language disorders?
(a) Limited amoyp, of
Speech

Nding the right word

Pyefafaa &
ﬁﬁ?“%wﬁmﬁmﬁaﬁﬁﬁ%?

() T Y ifiry gy
() W = Eror & s
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(b) U wr=i & dray & wfears
(d) T wnht

(a)
(c)

(b) Difficulty in learning new words

¢ o B . ' . &
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